


Project : Making new OIH_TDI_SSA_v1.1 and
         modify current OIH_The Present_New_v1.4_Raw


I checked “OIH_TDI_SSA_v1.0” and few requests for that likely as below.
Firstly, take a look at below images, please.
[image: C:\Users\thehe\Desktop\180219\project_1802191613\Picture(s) used_project_1802191613\Image of OIH_TDI_SSA_v1.0_1802191606 01.png]
Image of OIH_TDI_SSA_v1.0_1802191606 01

As you can see, there are 2 red rectangles on above image.
Correct the buffers in a right way, please.
∙ V6   v5
∙ Value 6   v6

And I hope selectable options of parameter to be hidden.
For example, “Arrows Visible” is set to “True” in parameter.
Remove this selectable option, please.
This function will be always true in the code.
I mean that I don’t need this function to select in parameter.
And there are 2 selectable Wingdings in parameter likely as 119 and 222.
∙ “Arrows On RSI Signal Cross Up Code”   119    233
∙ “Arrows On RSI Signal Cross Dn Code”   222    234

And also, remove these selectable options in parameter, please.
Instead, I can adjust the Wingdings in the code.
∙ “Arrows On RSI Signal Cross Up Size”   1    2
∙ “Arrows On RSI Signal Cross Dn Size”   1    2

Adjust the default size likely as above, please.



And I have a question about value display.
Firstly, take a look at below picture, please.
[image: C:\Users\thehe\Desktop\180219\project_1802191613\Image(s) used_project_1802191613\Image of OIH_TDI_SSA_v1.0_1802191606 02.png]
Image of OIH_TDI_SSA_v1.0_1802191606 02

When mouse cursor was hovered on lower line (Band Down), it shows “-0.2821”.
But it shows “-0.1666” in Data Window.
Of course, I have to use values in Data Window.
When I made this image, this indicator didn’t repaint.
So, I’m wondering how I can understand this value display – value when mouse cursor hovered.







The name of new TAB indicator will be “OIH_TDI_SSA_v1.1”.





And this is for current “OIH_The Present_New_v1.4_Raw.
Firstly, take a look at below images, please.

[image: C:\Users\thehe\Desktop\project_1802200926\Image(s) used_project_1802191632\Image of OIH_The Present_New_v1.4_Raw_ 1802200928_02.png]
Image of OIH_The Present_New_v1.4_Raw_ 1802200928_01

As you can see, there are 5 consecutive arrows on chart.
These arrows were from 2 extra conditions of Buy Exit.

//Indicator Buffer 2 - BUY EXIT 2
      if(Get_AdvancedParabolic_1st(PERIOD_M15, 2, 1+m15_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M15, 2, 1+m15_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value
         && Get_AdvancedParabolic_1st(PERIOD_M5, 2, 2+m5_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M5, 2, 2+m5_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value
         && Get_AdvancedParabolic_1st(PERIOD_M5, 2, 1+m5_bar) != 1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M5, 2, 1+m5_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value



//Indicator Buffer 2 - BUY EXIT 3
      if(Get_AdvancedParabolic_1st(PERIOD_M15, 2, 1+m15_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M15, 2, 1+m15_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value
         && Get_AdvancedParabolic_1st(PERIOD_M5, 2, 2+m5_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M5, 2, 2+m5_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value
         && Get_AdvancedParabolic_1st(PERIOD_M5, 2, 1+m5_bar) == 1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M5, 2, 1+m5_bar) != 1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value



As you can see, all conditions of “BUY EXIT 2” and “BUY EXIT 3” are using M5 and M15 time frames, so it is showing 5 consecutive arrows on chart.
I hope it to show just 1 arrow only.
At this time Dn_arrow (for Buy Exit, Wingdings 234) will be replaced with “X” mark (Wingdings 251, DarkGray colored and width 2).
Finally, it will show “X” mark (Wingdings 251, Width 2) on current candle in M1 time frame.
And also, v7 (Up_Trend cancelled) in Data Window will be used for this value.
I mean that v7 will show current price_open in M1 time frame when up_trend was broken.
[image: C:\Users\thehe\Desktop\project_1802200926\Image(s) used_project_1802191632\Image of OIH_The Present_New_v1.4_Raw_ 1802200928_02.png]
Image of OIH_The Present_New_v1.4_Raw_ 1802200928_02

As you can see, there are 5 consecutive arrows on chart.
These arrows were from 2 extra conditions of Sell Exit.

//Indicator Buffer 4 - SELL EXIT 2
      if(Get_AdvancedParabolic_1st(PERIOD_M15, 3, 1+m15_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M15, 3, 1+m15_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value
         && Get_AdvancedParabolic_1st(PERIOD_M5, 3, 2+m5_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M5, 3, 2+m5_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value
         && Get_AdvancedParabolic_1st(PERIOD_M5, 3, 1+m5_bar) != -1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M5, 3, 1+m5_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value






//Indicator Buffer 4 - SELL EXIT 3
      if(Get_AdvancedParabolic_1st(PERIOD_M15, 3, 1+m15_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M15, 3, 1+m15_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value
         && Get_AdvancedParabolic_1st(PERIOD_M5, 3, 2+m5_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M5, 3, 2+m5_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value
         && Get_AdvancedParabolic_1st(PERIOD_M5, 3, 1+m5_bar) == -1.00000 //OIH_AdvancedParabolic_v1.1_1st is equal to fixed value
         && Get_AdvancedParabolic_2nd(PERIOD_M5, 3, 1+m5_bar) != -1.00000 //OIH_AdvancedParabolic_v1.1_2nd is equal to fixed value



As you can see, all conditions of “Sell EXIT 2” and “BUY EXIT 3” are using M5 and M15 time frames, so it is showing 5 consecutive arrows on chart.
I hope it to show just 1 arrow only.
At this time, Up_arrow (for Sell Exit, Wingdings 233) will be replaced with “X” mark (Wingdings 251, DarkGray colored and width 2).
Finally, it will show “X” mark (Wingdings 251, Width 2) on current candle in M1 time frame.
And also, v8 (Dn_Trend cancelled) in Data Window will be used for this value.
I mean that v8 will show current price_open in M1 time frame when dn_trend was broken.



The name of new TAB indicator will be “OIH_The Present_New_v1.4”.





General Requirement(s)
∙ A new indicator(s) should work properly as I described in my document

-  -
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